Post to Post 2633mm (includes 23mm clearance)

Spec Sheet

“ TYP 82 YP 15 63 A) Flanged Post
I M \ M I 6
I ~N | =
E — — {D' W 1
L 1 H U o 2
-4 - -4 -1 -1 —4 -4 — —4 -4 —1 4 —1 |1 -~ ]
/ E9_._._._._._._._._._._._ _._ E[ o " r—m_! /V—m_! _’g‘
Q A 2l
€
w
£
o & 2
Y S
!
B 155 - g,
- - S M16 Screw Anchors/ M16
o Studs Chemset
0 o S
- o 1 B) Inground Post -—0
B ® 300 o ~ Y
1
I
I
‘ 17=_._._._._._._._._._._._ _'_ Tr
Y 2 g P SN N N S NN (g S N ) SN ) SN ) 6NN ) RN S S R | Of
R o 5]
— (o] ©
1 1 A I O I e I O + | NV/ﬁ
| ) |
(A) o (B)
2 o
- 2708 mm Post Centres (for 75 x 3mm Posts) - Y SV
65 x 3mm Fence Post @300
Fixing Details Spike Options Description :
65 x 3mm Fence Post 3mm Pale ™ .
) A _ ArmourFence ™ Palisade 1800h
Spiked Cap 50 x 5mm EA Rail
Material :
f e Posts: Black Steel to AS/NZS 1163 Grade C350
/ e Angles: Black Steel to AS/NZS 3679/300 PLUS
1/4"-30G Huck Bolt 7 M12 x 40mm *Baseplates: Black Steel to AS/NZS 3679/300 PLUS
Coach Bolt o D-Pales : Black Steel to AS/NZS 1594:2002 HA250
e Steel Tabs : Black Steel to AS/NZS 3679/300 PLUS
Welded Tab/ Bolt- Finish :

70 x 40 x 8mm Palisade
Tab with 37 x 14mm slot
hole centrally placed

Trident Top

1/4"-30G Huck Bolt Tamper
Resistant Fixings

M12 x 40 Coach Bolt with
Shear Nut fixed to Welded Tab

3, HEB PLACE, TAKANINI,
AUCKLAND NEW ZEALAND 2105

m DAMPDEN

Spear Top

P : (+64) 9 274 7557
F: (+64) 9 274 5473
E : sales@hampden.co.nz

M12 Shear Nut Hot Dip Galvanised to AS/NZS 4680:2006

on Tab on Post

Panel Weight : 75Kg | Drawn: KSB

Notes :
¢ Footing dimensions subject to change to suit
ground conditions
e High Security Product
e Powder Coated Finish Available

Specs :
eRails 50 x 5mm EA
e Posts 65 x 3mm
¢ D-Pales 80 x 3mm Hot Rolled Coil &
Cold Roll Formed Profile
*Upto 45 Degree Rake 23/02/2024

Version: 4 Date:

These drawings & specifications are the property of Hampden Limited & are issued in strict confidence.
They shall not be reproduced, copied, or used in any way without specific authority of the owner

WWW.HAMPDEN.CO.NZ


https://www.hampden.co.nz/

Post to Post 2633mm (includes 23mm clearance)

Spec Sheet
A) Flanged Post

YP 15
/P82, H -8 B 200 o
6
1M A I I /@L
o
1M M o Y
~ 1 | ] o / =
—_— A 9]
’ E9_._._._._._._._._._._._._._._._.E o N ’—m_‘ ’—m_‘ E
I — 1 11111111 =] 0 =
S
w
£
1 2
L lo & :
A
B 155 - g,
- - S M16 Screw Anchors/ M16
Studs Chemset
B) Inground Post 25
o — —
LN o ~ N
2 Q = _ @300 -
1 N — T A
I
K
bl g |
10 &
2 s Y s I e e e e 8 Y |
R Q
| I | ____________#___ Nvﬁ I
| Y §
Y Y
(A) - (B)
N
: 75 x 3mm Fence Post P 300
B 2708mm Post Centres (for 75 x 3mm Posts) .
' i Description :
. . ™ .
Spiked Cap Fixing Details Spike Options 3mm pale~[_ A ArmourFence ™ Palisade 2000h
X 5mm ai
75 x 3mm Fence Post
Material :
N3 o e Posts: Black Steel to AS/NZS 1163 Grade C350
B ¢ Angles: Black Steel to AS/NZS 3679/300 PLUS
«© 7 M12 x 40 *Baseplates: Black Steel to AS/NZS 3679/300 PLUS
A 4306 Huck Bol c }’:B Imm «D-Pales : Black Steel to AS/NZS 1594:2002 HA250
JA N ! (e iE e oach Bolt «Steel Tabs : Black Steel to AS/NZS 3679/300 PLUS
Y] Finish :
Welded Tab/ Bolt- Hot Dip Galvanised to AS/NZS 4680:2006
70 x 40 x 8mm Palisade on Tab on Post M12 Shear Nut
Tab with 37 x 14mm slot .
Panel Weight : 82Kg | Drawn: KSB
hole centrally placed
Specs : Notes :
. Footing dimensions subject to change to suit
i Spear To *Rails 50 x 5mm EA *
Trident Top P P Flat Top ground conditions

1/4"-30G Huck Bolt Tamper

M12 x 40 Coach Bolt with
Resistant Fixings

Shear Nut fixed to Welded Tab

HAMPDEN

TREATIMRGS SECURE PERIMETEINS

P : (+64) 9 274 7557
F: (+64) 9 274 5473
E : sales@hampden.co.nz

3, HEB PLACE, TAKANINI,
AUCKLAND NEW ZEALAND 2105

ePosts 75 x 3mm

¢ D-Pales 80 x 3mm Hot Rolled Coil &
Cold Roll Formed Profile

e Upto 45 Degree Rake

e High Security Product
e Powder Coated Finish Available

Version: 4 Date: 23/02/2024

These drawings & specifications are the property of Hampden Limited & are issued in strict confidence.
They shall not be reproduced, copied, or used in any way without specific authority of the owner

WWW.HAMPDEN.CO.NZ


https://www.hampden.co.nz/

- Spec Sheet

Post to Post 2633mm (includes 23mm clearance)
P 82 TYP 15? 68
——

RN

A) Flanged Post

<
—
—
—
— |-

They shall not be reproduced, copied, or used in any way without specific authority of the owner

1? L] L] L] L] L] L] L] L] L] L] L] L[] L] L] L] | L] | L] E[ 4
I s s e e e s e s e e s e s B 3 / £
fasl g
o 1 =
Q — |
€
w
£
1 =
b le & 2
A
B 155 - g,
- - S M16 Screw Anchors/ M16
B) Inground Post Studs Chemset
o 75
N o o
S g B 300 N )
o — —
)
I
I
o
o
(e)}
I
‘ 1= | | | | | | | | | | | | | | | | WaY!
\ oTe ] ° o_o_o_u_o_o_._._-_n_o_o_._o&
Q o
= ! N vﬂ I
- - - - — — — — — r— ) A8
(A) S (B) Vv S =y
0 75 x 3mm Fence Post © 300
_ 2708mm Post Centres (for 75 x 3mm Posts) _ -
= 1 Description :
Spike Options .
3mm Pale~] ArmourFence™ Palisade 2400h
. .. . .
75 x 3mm Fence Post Spiked Cap Fixing Details 50 x 5mm EA Rail
Material :
e Posts: Black Steel to AS/NZS 1163 Grade C350
& e Angles: Black Steel to AS/NZS 3679/300 PLUS
! e Baseplates: Black Steel to AS/NZS 3679/300 PLUS
1/4-30G Huck Bolt M12 x 40mm *D-Pales : Black Steel to AS/NZS 1594:2002 HA250
Coach Bolt o Steel Tabs : Black Steel to AS/NZS 3679/300 PLUS
Welded Tab/ Bolt- Finish :
on Tab on Post M12 Shear Nut Hot Dip Galvanised to AS/NZS 4680:2006
70 x 40 x 8mm Palisade
Tab with 37 x 14mm slot | Panel Weight : 95Kg | Drawn: KSB
hole centrally placed & y. Specs : Notes :
. eRails 50 x 5mm EA e Footing dimensions subject to change to suit
Trident Top Spear Top Flat Top «Posts 75 x 3mm ground conditions
M12 x 40 Coach Bolt with 1/4"-30G Huck Bolt Tamper « D-Pales 80 x 3mm Hot Rolled Coil & | ®High Security Product
Shear Nut fixed to Welded Tab Resistant Fixings Cold Roll Formed Profile * Powder Coated Finish Available
*Upto 45 Degree Rake Version: 4 Date:  23/02/2024
u H A M p D E N 3, HEB PLACE, TAKANlle ::((:gj)) g ;;2 57’2??7’ WWW.HAMPDEN.CO.NZ These drawings & specifications are the property of Hampden Limited & are issued in strict confidence.

AUCKLAND NEW ZEALAND 2105

TREATING SECURE PERIMETEINS E : sales@hampden.co.nz


https://www.hampden.co.nz/

Post to Post 2633mm (includes 23mm clearance
LA —- ( ) - Spec Sheet
“ JYP82 T|\£§|0 68 A) Flanged Post
I M - 200 -
3 ] I eht
0710 w0 v own o woyooe vl weyo vy v wee e v e vl v i v o o U0 oo o 00000 o=
S = e e e e e e e e e Y e Y O © ! /
o =
—_— A m m 9]
Q — |
€
w
0 E
“' =
—
= R R
i
Y
— 155 M16 Screw Anchors/ M16
Studs Chemset
B) Inground Post
o 75
@ \ e 3 AN,
~ \ E._l_l_._._'_l_._._l_l_._l_'_l_._lz[ R - @300 -
A
I
n
—
i
i I
o
S
—
—
I
= I e e e s s e Y
E\ o \
S | i N Vﬂ 3
- - W N BB BB BB —— | ' S
(A) o (B) 1
2 75 x 4mm Fence Post @ 300
4 2708mm Post Centres (for 75 x 3mm Posts) - o
= = Description :
R : ™ .
spiked Cap Fixing Details Spike Options I ArmourFence™ Palisade 2700h
A
50 x 5mm EA Rail
75 x 3mm Fence Post Material :
e Posts: Black Steel to AS/NZS 1163 Grade C350
I ¢ Angles: Black Steel to AS/NZS 3679/300 PLUS
/ eBaseplates: Black Steel to AS/NZS 3679/300 PLUS
1/4"-30G Huck Bolt il M12 x 40mm eD-Pales : Black Steel to AS/NZS 1594:2002 HA250
Coach Bolt e Steel Tabs : Black Steel to AS/NZS 3679/300 PLUS
Finish :
Welded Tab/ Bolt- Hot Dip Galvanised to AS/NZS 4680:2006
_ on Tab on Post M12 Shear Nut
70 x 40 x 8mm Palisade
Tab with 37 x 14mm slot } Panel Weight: 114Kg | Drawn: KSB
hole centrally placed , | ‘?' Specs : Notes :
. e Rails 50 x 5mm EA ¢ Footing dimensions subject to change to suit
Trident Top Spear Top Flat Top «Posts 75 x 4mm ground conditions
) Y e D-Pales 80 x 3mm Hot Rolled Coil & * High Security Product
M12 x 40 Coach Bolt with 1/4"-30G Huck Bolt Tamper Cold Roll Formed Profile « Powder Coated Finish Available
Shear Nut fixed to Welded Tab Resistant Fixings
*Upto 45 Degree Rake Version: 4 Date:  23/02/2024
P: (+64) 9 274 7557 _ L - . o .
H A M p D E N 3, HEB PLACE, TAKAN|N|, F: (+64) 9 274 5473 WWW.HAMPDEN.CO.NZ These drawings & specifications are the property of Hampden Limited & are issued in strict confidence.

They shall not be reproduced, copied, or used in any way without specific authority of the owner

i
“ TREATIRG SECMURE PERIMETENS AUCKLAND NEW ZEALAND 2105 E : sales@hampden.co.nz


https://www.hampden.co.nz/

Post to Post 2633mm (includes 23mm clearance)

Spec Sheet

“ _aYP 82 TY|<>|P L0 6 A) Flanged Post
[ 1 - 200 -
QT B \ /9&
S g e Y e B e e e e e e Y e Y e e B © O
= =
) ooaml m g
5] 4 2l
&
E
g s
Y
. P & S5 ”ﬁ‘
155 o
- - X M16 Screw Anchors/ M16
B) Inground Post Studs Chemset
75
——
3 ) e
d \ iz e e e e e e e e e Y e Y Y R 8 - 300 - :
8 |
5 g
Y
o\ o - - - - ] - - - e e e e e e ] e * [of S
| ﬁi ‘v/ﬁ | -
= == ===2====== I )
(A) 2 (B) 75 x 4mm Fence Post @300
- 2708mm Post Centres (for 75 x 3mm Posts) ¢ >‘ Description :
S— ArmourFence ™ Palisade 3000h
Spiked Cap Spike Options ~ 50 x 5mm EA Rail

ijx 4mm Fence Post

\ B
(o]
70 x 40 x 8mm Palisade

Tab with 37 x 14mm slot
hole centrally placed

M12 x 40 Coach Bolt with
Shear Nut fixed to Welded Tab

HAMPDEN

TREATIMRGS SECURE PERIMETEINS

Flat To

Spear Top

1/4"-30G Huck Bolt Tamper
Resistant Fixings

P : (+64) 9 274 7557
F: (+64) 9 274 5473
E : sales@hampden.co.nz

3, HEB PLACE, TAKANINI,
AUCKLAND NEW ZEALAND 2105

.

/ “’
1/4"-30G Huck bolt

M12 x 40mm
Coach Bolt

Welded Tab/ Bolt-

on Tab on Post M12 Shear Nut

Specs :
*Rails 50 x 5mm EA
®Posts 75 x 4mm

¢ D-Pales 80 x 3mm Hot Rolled Coil &

Cold Roll Formed Profile
e Upto 45 Degree Rake

Material :
e Posts: Black Steel to AS/NZS 1163 Grade C350

¢ Angles: Black Steel to AS/NZS 3679/300 PLUS

*Baseplates: Black Steel to AS/NZS 3679/300 PLUS
e D-Pales : Black Steel to AS/NZS 1594:2002 HA250
e Steel Tabs : Black Steel to AS/NZS 3679/300 PLUS

Finish :

Hot Dip Galvanised to AS/NZS 4680:2006
Panel Weight: 124Kg Drawn: KSB
Notes :

¢ Footing dimensions subject to change to suit
ground conditions

e High Security Product

e Powder Coated Finish Available

Version: 4 Date: 23/02/2024

These drawings & specifications are the property of Hampden Limited & are issued in strict confidence.

WWW.HAMPDEN.CO.NZ

They shall not be reproduced, copied, or used in any way without specific authority of the owner


https://www.hampden.co.nz/

	1800h
	Drawing View7
	Drawing View10
	Drawing View19
	Drawing View112
	Drawing View113
	Detail View N (1 : 4)
	Detail View O (1 : 4)
	Drawing View169
	Detail View N (1 : 4)
	Drawing View171
	Drawing View172
	Drawing View173
	Section View BG-BG
	Detail View BH (1 : 10)
	Section View BM-BM

	2000h
	Drawing View328
	Drawing View329
	Drawing View334
	Drawing View336
	Drawing View338
	Detail View N (1 : 4)
	Detail View O (1 : 4)
	Drawing View340
	Detail View N (1 : 4)
	Drawing View342
	Drawing View343
	Drawing View344
	Section View BG-BG
	Detail View BI (1 : 10)
	Section View BN-BN

	2400h
	Drawing View345
	Drawing View346
	Drawing View351
	Drawing View353
	Drawing View355
	Detail View N (1 : 4)
	Detail View O (1 : 4)
	Drawing View357
	Detail View N (1 : 4)
	Drawing View359
	Drawing View360
	Drawing View361
	Section View BG-BG
	Detail View BJ (1 : 10)
	Section View BO-BO

	2700h
	Drawing View362
	Drawing View363
	Drawing View368
	Drawing View370
	Drawing View372
	Detail View N (1 : 4)
	Detail View O (1 : 4)
	Drawing View374
	Detail View N (1 : 4)
	Drawing View376
	Drawing View377
	Drawing View378
	Section View BG-BG
	Detail View BK (1 : 10)
	Section View BP-BP

	3000h
	Drawing View379
	Drawing View380
	Drawing View385
	Drawing View387
	Drawing View389
	Detail View N (1 : 4)
	Detail View O (1 : 4)
	Drawing View391
	Detail View N (1 : 4)
	Drawing View393
	Drawing View394
	Drawing View395
	Section View BG-BG
	Detail View BL (1 : 10)
	Section View BQ-BQ


